
Finite Rod of Charge – general case

Q

λ = Q/L dE = kE dq/R 2 = kE λdz [r 2 + (z – h) 2] -1                             

dEr = dE cos θ  =  dE r /R  =  kE λdz r [r 2 + (z – h) 2] – 
3/2

dEz = - dE sin θ  =  - dE (z – h) /R                                    

  =  kE λdz (z – h) [r 2 + (z – h) 2] – 
3/2       

=  - kE λ du,    where    u ≡ [r 2 + (z – h) 2] – 
1/2         



Finite Rod of Charge – general case

Q

λ = Q/L dEz = - kE λ du,    where    u ≡ [r 2 + (z – h) 2] – 
½

so   Ez = - kE λ ∫  du,              giving

Ez = - kE λ { [r 2 + (L – h) 2] – 
½ -  [r 2 + h 2] – 

½ }

u(z = 0)

u(z = L)



Finite Rod of Charge – general case

Q

λ = Q/L dEr = dE cos θ  =  (kE λdz/R 2)(r /R)  =  kE λdz r [r 2 + (z – h) 2] – 
3/2

      Hmmm, not so easy . . . better work with    cos θ = r /R

or   R = r /cos θ   and   1/R 2 = cos 2 θ/r  2     while    (z – h) = r tan θ,

               giving      dz = r sec 2 θ dθ = r dθ / cos 2 θ     so that

dEr =  kE λ (r dθ / cos 2 θ)(cos 2 θ/r  2) cos θ = (kE λ /r) dw,

where    w ≡ sin θ



Finite Rod of Charge – general case

Q

λ = Q/L dEr =  kE λ (r dθ / cos 2 θ)(cos 2 θ/r  2) cos θ = (kE λ /r) dw,                   
where    w ≡ sin θ,       giving

Er = (kE λ /r) ∫ dw,       or    

Er = (kE λ /r) { (L – h) [r 2 + (L – h) 2] – 
½ +  h [r 2 + h 2] – 

½ }

w(z = L)

w(z = 0)


